Supplemental Online Material Table 4.
Regression tables predicting play behaviors from second semester gestational A* levels

b SE() B t p 95% ClI R R* Adjusted R®> SE (estimate) R’A FA df  Sig. FA
Initiate Play Intercept Model 1 2.00 1.52 131 020 [-1.14,5.13] 0.05 0.00 -0.04 2.48 0.00 0.06 1,25 0.81
Number of play partners present  0.07 028 0.05 025 0.81 [-0.52, 0.66]
Intercept Model 2 1.42 1.55 0.92 037 [-1.78,4.61] 0.28 0.08 0.00 2.44 0.08 198 1,24 0.17
Number of play partners present 0.18 029 013 062 054 [-0.42, 0.78]
Sex 0.69 049 029 141 0.17 [-0.32,1.7]
Intercept Model 3 1.56 1.59 0.98 0.34 [-1.74,4.86] 0.30 0.09 -0.03 2.47 0.01 027 1,23 0.61
Number of play partners present  0.15 030 011 051 0.61 [-0.47,0.77]
Sex 0.63 051 026 125 022 [-042 1.68]
Second semester gestational A* -0.03  0.06 -0.11 -052 061 [-0.16, 0.1]
Intercept Model 4 1.64 1.70 0.96 0.35 [-1.89,5.16] 0.30 0.09 -0.07 2.53 0.00 0.03 1,22 0.87
Number of play partners present  0.14 031 010 044 0.66 [-0.51, 0.79]
Sex 0.63 052 026 121 0.24 [-0.45, 1.7]
Second semester gestational A* -0.03  0.06 -0.11 -052 061  [-0.17,0.1]
Sex * gestational A* interaction 0.01  0.06  0.03 0.7 0.87 [-0.13,0.15]
b SE() B t p 95% CI R R?  Adjusted R> SE (estimate) R?*A FA df  Sig. FA
Receive Play Intercept Model 1 -0.54  0.72 -0.74 046  [-2.04,0.96] 059 0.35 0.33 1.18 035 1354 1,25 0.00
Number of play partners present  0.50 0.13 059 3.68 0.00 [0.22, 0.78]
Intercept Model 2 -0.34 0.75 -0.46 0.65 [-1.9, 1.21] 0.61 0.38 0.32 1.19 0.02 0.94 1,24 0.34
Number of play partners present  0.46 0.14 055 328 0.00 [0.18, 0.75]
Sex -0.23 024 -0.16 -0.97 0.34 [-0.72, 0.26]
Intercept Model 3 -0.13  0.73 -0.18 0.86  [-1.65,1.39] 0.67 0.45 0.38 114 0.08 316 1,23 0.09
Number of play partners present  0.42 0.14 050 3.07 0.01 [0.14,0.7]
Sex -0.31 023 -022 -135 0.19 [-0.8, 0.17]
Second semester gestational A* -0.05  0.03  -0.28 -1.78 0.09  [-0.11,0.01]
Intercept Model 4 -0.16  0.78 -0.21 0.84  [-1.78,1.46] 0.67 0.45 0.35 1.16 0.00 0.03 1,22 0.87
Number of play partners present  0.42 0.14 051 295 0.01 [0.13,0.73]
Sex -0.31 024 -022 -130 0.21 [-0.81, 0.19]
Second semester gestational A* -0.05  0.03 -028 -173 010  [-0.12,0.02]
Sex * gestational A* interaction 0.00 ~ 0.03 -0.03 -0.16 0.87  [-0.07,0.06]
b SE() B t p 95% Cl R R?* Adjusted R* SE (estimate) R?A FA df  Sig. FA
Overall Play Intercept Model 1 1.02 1.54 0.66 0.52 [-2.17,4.2] 0.38 0.14 0.11 2.52 014 409 1,25 0.05
Number of play partners present  0.58 0.29 0.38 2.02 0.05 [-0.02, 1.18]
Intercept Model 2 0.73 1.62 0.45 066 [-2.62,4.07] 0.40 0.16 0.09 2.55 0.02 046 1,24 0.50
Number of play partners present  0.64 030 041 211 0.05 [0.02, 1.26]
Sex 035 051 013 0.68 0.50 [-0.71, 1.4]
Intercept Model 3 1.05 1.63 0.64 053 [-2.33,4.42] 045 0.21 0.10 2.53 0.05 140 1,23 0.25
Number of play partners present  0.57 030 037 1.89 0.07 [-0.06, 1.21]
Sex 022 052 0.08 043 067 [-0.85 1.29]
Second semester gestational A* -0.07  0.06 -0.23 -1.18 0.25  [-0.21, 0.06]
Intercept Model 4 1.05 1.74 0.61 0.55 [-2.55,4.66] 045 0.21 0.06 2.59 0.00 0.00 1,22 0.99
Number of play partners present  0.57 032 037 179 0.09 [-0.1, 1.24]
Sex 022 053 0.08 042 068 [-0.88, 1.32]
Second semester gestational A* -0.07  0.06 -023 -1.16 026  [-0.21,0.06]
Sex * gestational A* interaction  0.00 ~ 0.07  0.00 0.01 0.99 [-0.14,0.14]

Note : SE = standard error; 95% CI = 95% confidence interval; df = degrees of freedom



Regression tables predicting play behaviors from second semester gestational A* levels continued

b SE() B t p 95% ClI R R* Adjusted R®> SE (estimate) R’A FA df  Sig. FA
Initiate Play Twin Intercept Model 1 1.09 0.8 123 023 [-0.77,2.96] 0.04 0.00 -0.05 1.24 0.00 0.03 1,18 0.88
Number of play partners present  0.03 0.16 0.04 0.16 0.88 [-0.32, 0.38]
Intercept Model 2 0.62 0.84 0.74 047 [-1.16,2.39] 0.46 0.21 0.12 1.13 0.21 451 1,17 0.05
Number of play partners present  0.11 0.16 0.16 0.73 047 [-0.22, 0.45]
Sex 056 026 047 2.12 0.05 [0.01, 1.12]
Intercept Model 3 071 0.87 0.81 043 [-1.14,255] 0.48 0.23 0.08 1.15 0.02 036 1,16 0.56
Number of play partners present  0.10 0.16 014 061 055 [-0.25, 0.45]
Sex 053 028 045 192 0.07 [-0.06,1.12]
Second semester gestational A* -0.02  0.03  -0.14 -0.60 056 [-0.1, 0.06]
Intercept Model 4 0.69  0.93 0.74 047 [-1.3,2.69] 0.48 0.23 0.02 1.19 0.00 0.00 1,15 0.96
Number of play partners present  0.10 0.17 014 058 0.57 [-0.27, 0.47]
Sex 053 029 045 185 0.08 [-0.08,1.14]
Second semester gestational A* -0.02  0.03  -0.13 -0.58 057  [-0.1,0.06]
Sex * gestational A* interaction 0.00 ~ 0.04 -0.01 -0.04 0.96 [-0.08,0.08]
b SE() B t p 95% CI R R?  Adjusted R> SE (estimate) R?*A FA df  Sig. FA
ReceiveTwin Intercept Model 1 1.02 075 135 0.19 [-0.57, 2.6] 0.03 0.00 -0.05 1.05 0.00 0.02 1,18 0.89
Number of play partners present  0.02 0.14 0.03 0.14 0.89 [-0.28,0.32]
Intercept Model 2 1.35 0.74 1.82 0.09 [-0.22, 2.92] 0.39 0.15 0.05 1.00 0.15 2.95 1,17 0.10
Number of play partners present -0.04  0.14 -0.07 -0.31 0.76 [-0.34, 0.25]
Sex -0.40 023 -040 -1.72 0.10 [-0.9, 0.1]
Intercept Model 3 152 073 2.07 0.06 [-0.05,3.08] 049 0.24 0.09 0.98 0.09 181 1,16 0.20
Number of play partners present -0.08  0.14 -0.13 -0.55 0.59 [-0.37,0.22]
Sex -0.46 023 -046 -199 0.06 [-0.96,0.03]
Second semester gestational A* -0.04  0.03  -0.30 -1.35 0.20 [-0.1, 0.03]
Intercept Model 4 153  0.79 193 0.07 [-0.16,3.22] 049 0.24 0.03 1.01 0.00 0.00 1,15 0.96
Number of play partners present -0.08  0.15 -0.13 -0.53 0.61 [-0.39, 0.24]
Sex -0.47 024 -046 -193 0.07 [-0.99,0.05]
Second semester gestational A* -0.04  0.03  -0.30 -1.30 021  [-0.11,0.03]
Sex * gestational A* interaction  0.00  0.03 001 005 096 [-0.07,0.07]
b SE() B t p 95% Cl R R?* Adjusted R* SE (estimate) R?A FA df  Sig. FA
Overall Play Twin Intercept Model 1 2.06 094 219 0.04 [0.09, 4.05] 0.03 0.00 -0.05 1.32 0.00 0.01 1,18 0.91
Number of play partners present  0.02 0.18 0.03 0.12 0.91 [-0.35, 0.39]
Intercept Model 2 2.03 1.01 2.02 0.06 [-0.1, 4.16] 0.04 0.00 -0.12 1.36 0.00 0.02 1,17 0.90
Number of play partners present  0.03 0.19 0.04 015 0.89 [-0.37, 0.43]
Sex 004 032 0.03 0.13 0.90 [-0.63, 0.71]
Intercept Model 3 2.23 1.01 222 0.04 [0.1, 4.37] 0.29 0.08 -0.09 1.34 0.08 1.45 1,16 0.25
Number of play partners present -0.01  0.19 -0.02 -0.06 0.95 [-0.41, 0.39]
Sex -0.04 032 -003 -012 091 [-0.72,0.64]
Second semester gestational A* -0.05  0.04 -0.30 -1.20 0.25  [-0.13,0.04]
Intercept Model 4 2.27 1.08 210 0.05  [-0.04,4.59] 0.29 0.09 -0.16 1.38 0.00 0.02 1,15 0.89
Number of play partners present -0.02 020 -0.03 -0.09 0.93 [-0.45, 0.41]
Sex -0.04 033 -003 -013 090 [-0.75,0.67]
Second semester gestational A* -0.05 ~ 0.04 -030 -1.17 026  [-0.14,0.04]
Sex * gestational A’ interaction  0.01 ~ 0.04  0.04 0.15 0.89 [-0.09, 0.1]

Note : SE = standard error; 95% CI = 95% confidence interval; df = degrees of freedom



Regression tables predicting play behaviors from second semester gestational A* levels continued

b SE() B t p 95% ClI R R* Adjusted R®> SE (estimate) R’A FA df  Sig. FA
Initiate Play Sib Intercept Model 1 1.05 1.36 0.77 045 [-1.78,3.88] 0.14 0.02 -0.02 2.14 0.02 049 1,23 0.49
Number of play partners present  0.18 025 014 070 0.49 [-0.35, 0.71]
Intercept Model 2 0.45 1.36 033 0.75 [-2.38,3.28] 0.36 0.13 0.05 2.06 0.11 280 1,22 0.11
Number of play partners present  0.29 025 024 115 0.26 [-0.24, 0.82]
Sex 072 043 035 167 011 [-0.18, 1.61]
Intercept Model 3 0.57 1.40 0.41 0.69 [-2.35, 3.5] 0.38 0.14 0.02 2.10 0.01 030 1,21 0.59
Number of play partners present  0.27 026 022 102 0.32 [-0.28, 0.82]
Sex 0.67 045 032 150 0.5 [-0.26, 1.6]
Second semester gestational A* -0.03  0.05 -0.11 -055 059  [-0.15,0.09]
Intercept Model 4 0.54 1.50 0.36 0.72 [-2.59, 3.68] 0.38 0.14 -0.03 2.15 0.00 0.01 1,20 0.94
Number of play partners present  0.27 028 022 098 0.34 [-0.31, 0.85]
Sex 0.67 046 032 147 016 [-0.29,1.63]
Second semester gestational A* -0.03 006 -0.11 -0.53 0.60  [-0.15,0.09]
Sex * gestational A* interaction 0.00  0.06  -0.02 -0.07 0.94  [-0.13,0.12]
b SE() B t p 95% CI R R?  Adjusted R> SE (estimate) R?*A FA df  Sig. FA
ReceiveSib Intercept Model 1 -1.25  1.00 -1.24 023 [-3.32,0.83] 0.66 0.44 0.41 1.57 044 1802 1,23 0.00
Number of play partners present  0.79 0.19 0.66 4.25 0.00 [0.41, 1.18]
Intercept Model 2 -1.33 1.06 -1.26  0.22 [-3.54, 0.87] 0.67 0.44 0.39 161 0.00 0.10 1,22 0.76
Number of play partners present  0.81 020 0.68 4.09 0.00 [0.4, 1.22]
Sex 0.10 033 0.05 0.31 0.76 [-0.59, 0.8]
Intercept Model 3 -1.01 1.02 -1.00 0.33 [-3.13, 1.11] 0.72 0.52 0.46 1.52 0.08 3.62 1,21 0.07
Number of play partners present  0.75 0.19 0.62 394 0.00 [0.36, 1.14]
Sex -0.02 032 -001 -006 0.95 [-0.7, 0.65]
Second semester gestational A* -0.07  0.04 -0.29 -1.90 0.07  [-0.16, 0.01]
Intercept Model 4 -1.06  1.08 -0.98 034  [-3.33,1.21] 0.72 0.52 0.43 1.55 0.00 0.03 1,20 0.87
Number of play partners present  0.75 020 0.63 3.77 0.00 [0.34, 1.18]
Sex -0.02 033 -001 -005 096 [-0.71,0.68]
Second semester gestational A* -0.07  0.04  -029 -1.85 008  [-0.16,0.01]
Sex * gestational A* interaction -0.01 ~ 0.04 -0.03 -0.16 0.87  [-0.1,0.08]
b SE() B t p 95% Cl R R?* Adjusted R* SE (estimate) R?A FA df  Sig. FA
Overall Play Sib Intercept Model 1 0.38 1.90 0.20 0.85 [-3.56,4.31] 0.48 0.23 0.19 2.98 0.23 679 1,23 0.02
Number of play partners present  0.92 035 048 261 0.02 [0.19, 1.66]
Intercept Model 2 -0.27 1.95 -0.14 0.89 [-4.31, 3.77] 0.53 0.28 0.21 2.95 0.05 1.57 1,22 0.22
Number of play partners present  1.04 036 054 288 0.01 [0.3, 1.8]
Sex 0.77 0.61 024 125 0.22 [-0.51, 2.04]
Intercept Model 3 0.17 1.94 0.09 0.93 [-3.87,4.2] 0.58 0.34 0.24 2.89 0.06 185 1,21 0.19
Number of play partners present  0.96 036 050 265 0.01 [0.21, 1.71]
Sex 0.60 061 018 0.97 034 [-0.69,1.88]
Second semester gestational A* -0.10  0.08 -0.25 -1.36 0.19  [-0.26, 0.06]
Intercept Model 4 0.16 2.07 0.08 0.94 [-4.16,4.48] 0.58 0.34 0.21 2.96 0.00 0.00 1,20 0.99
Number of play partners present  0.96 038 050 251 0.02 [0.17, 1.76]
Sex 0.60 063 018 0.95 036 [-0.73,1.92]
Second semester gestational A* -0.10  0.08  -025 -1.33 020  [-0.27,0.06]
Sex * gestational A* interaction  0.00 ~ 0.08 ~ 0.00 -0.01 099 [-0.17,0.17]

Note : SE = standard error; 95% CI = 95% confidence interval; df = degrees of freedom



Regression tables predicting play behaviors from second semester gestational A* levels continued

b SE() B t p 95% ClI R R* Adjusted R®> SE (estimate) R’A FA df  Sig. FA
Initiate Play Mother Intercept Model 1 055 0.21 2.67 0.01 [0.13, 0.98] 0.30 0.09 0.06 0.34 0.09 253 1,25 0.12
Number of play partners present -0.06  0.04 -0.30 -159 0.12 [-0.15, 0.02]
Intercept Model 2 048 0.21 2.26 0.03 [0.05, 0.92] 0.39 0.5 0.08 0.33 0.06 178 1,24 0.19
Number of play partners present -0.05  0.04 -0.23 -1.20 0.24 [-0.13, 0.04]
Sex 0.09 007 026 133 0.19 [-0.05,0.23]
Intercept Model 3 041  0.20 2.03 0.05 [-0.01,0.84] 052 0.27 0.17 0.32 0.11 352 1,23 0.07
Number of play partners present -0.03  0.04 -0.17 -0.92 0.37 [-0.12, 0.05]
Sex 0.11 006 033 175 0.09 [-0.03,0.25]
Second semester gestational A 0.01  0.01 034 188 007  [-0.01,0.04]
Intercept Model 4 054  0.20 275 0.01 [0.14, 0.95] 0.64 0.40 0.29 0.29 014 503 1,22 0.04
Number of play partners present -0.05  0.04 -0.27 -152 0.14 [-0.13, 0.03]
Sex 0.10 006 030 171 010 [-0.03,0.23]
Second semester gestational A* 001 001 032 1.90 0.07  [-0.01,0.03]
Sex * gestational A* interaction 0.02 ~ 0.01  0.38 224 0.04 [0.01, 0.04]
b SE() B t p 95% CI R R?  Adjusted R> SE (estimate) R?*A FA df  Sig. FA
ReceiveMother Intercept Model 1 0.14  0.05 2.64 0.01 [0.04, 0.25] 033 0.11 0.07 0.08 0.11 3.05 1,25 0.09
Number of play partners present -0.02  0.01 -0.33 -1.75 0.09 [-0.04, 0.01]
Intercept Model 2 0.12 0.05 222 0.04 [0.01, 0.23] 043 0.18 0.11 0.08 0.07 2.15 1,24 0.16
Number of play partners present -0.01  0.01 -0.25 -1.33 0.20 [-0.04, 0.01]
Sex 0.02 0.02 028 147 0.16 [-0.01, 0.06]
Intercept Model 3 0.13  0.05 256 0.02 [0.03, 0.24] 052 0.27 0.18 0.08 0.09 292 1,23 0.10
Number of play partners present -0.02  0.01 -0.31 -1.66 0.11 [-0.04, 0.01]
Sex 0.02 002 022 114 026 [-0.02, 0.06]
Second semester gestational A* 0.00  0.00 -0.31 -1.71 0.0  [-0.01, 0.01]
Intercept Model 4 0.13  0.05 240 0.03 [0.02, 0.25] 052 0.27 0.14 0.08 0.00 0.00 1,22 0.99
Number of play partners present -0.02  0.01 -0.31 -1.57 0.13 [-0.04, 0.01]
Sex 0.02 002 022 111 0.28 [-0.02, 0.06]
Second semester gestational A* 0.00  0.00 -031 -1.67 011  [-0.01,0.01]
Sex * gestational A* interaction  0.00 ~ 0.00  0.00 0.01 0.99 [-0.01,0.01]
b SE() B t p 95% Cl R R?* Adjusted R* SE (estimate) R?A FA df  Sig. FA
Overall Play Mother Intercept Model 1 055 0.21 2.60 0.02 [0.12, 0.99] 0.28 0.08 0.04 0.34 0.08 212 1,25 0.16
Number of play partners present -0.06  0.04 -0.28 -1.46 0.16 [-0.14, 0.03]
Intercept Model 2 0.47 0.21 218 0.04 [0.03, 0.91] 0.39 0.15 0.08 0.34 0.07 2.10 1,24 0.16
Number of play partners present -0.04  0.04 -0.20 -1.05 0.31 [-0.13, 0.05]
Sex 0.10 0.07 0.28 145 0.16 [-0.05, 0.24]
Intercept Model 3 042 021 197 0.06 [-0.03,0.87] 046 0.21 0.10 0.33 0.05 159 1,23 0.22
Number of play partners present -0.03  0.04 -0.16 -0.83 0.42 [-0.12, 0.05]
Sex 012 007 033 169 010 [-0.03,0.26]
Second semester gestational A*  0.01 001 024 126 0.22 [-0.01,0.03]
Intercept Model 4 053 021 247 0.02 [0.09, 0.98] 055 0.31 0.18 0.32 0.10 315 1,22 0.09
Number of play partners present -0.05  0.04 -0.25 -1.27 0.22 [-0.14, 0.04]
Sex 011 007 031 162 012 [-0.03 0.25]
Second semester gestational A* 001 0.01 022 122 024  [-0.01,0.03]
Sex * gestational A* interaction  0.01 ~ 0.01 033 178 0.09  [-0.01,0.04]

Note : SE = standard error; 95% CI = 95% confidence interval; df = degrees of freedom



Regression tables predicting play behaviors from second semester gestational A* levels continued

b SE() B t p 95% ClI R R* Adjusted R®> SE (estimate) R’A FA df  Sig. FA
Initiate Play Father Intercept Model 1 1.09 021 5.24 0.00 [0.67, 1.53] 0.64 0.42 0.39 0.34 042 1776 1,25 0.00
Number of play partners present -0.16  0.04 -0.64 -421 0.00 [-0.25,-0.09]
Intercept Model 2 1.05 0.22 4.80 0.00 [0.6, 1.5] 0.66 0.43 0.38 0.34 0.01 062 1,24 0.44
Number of play partners present -0.15  0.04 -0.61 -3.82 0.00 [-0.24,-0.08]
Sex 0.05 007 013 0.78 0.44 [-0.09, 0.2]
Intercept Model 3 1.03 022 4.58 0.00 [0.57, 1.5] 0.66 0.44 0.36 0.35 0.01 027 1,23 0.61
Number of play partners present -0.15  0.04 -0.60 -3.62 0.00 [-0.24,-0.07]
Sex 0.06 007 014 0.86 040 [-0.09,0.21]
Second semester gestational A* 0.00  0.01  0.08 052 061 [-0.02,0.03]
Intercept Model 4 1.07 024 4.54  0.00 [0.59, 1.57] 0.67 0.45 0.35 0.35 0.01 049 1,22 0.49
Number of play partners present -0.16  0.04 -0.63 -3.64 0.00 [-0.25,-0.07]
Sex 0.06 007 013 079 044 [-0.1,0.21]
Second semester gestational A* 0.00  0.01  0.08 048 064 [-0.02 0.03]
Sex * gestational A* interaction 0.01  0.01  0.11 070 049  [-0.02,0.03]
b SE() B t p 95% CI R R?  Adjusted R> SE (estimate) R?*A FA df  Sig. FA
Receive Father Intercept Model 1 0.16  0.06 2,78 0.01 [0.05, 0.29] 0.28 0.08 0.04 0.09 0.08 210 1,25 0.16
Number of play partners present -0.02  0.01 -0.28 -1.45 0.16 [-0.04, 0.01]
Intercept Model 2 0.17  0.06 281 0.01 [0.05, 0.3] 0.30 0.09 0.02 0.10 0.01 039 1,24 0.54
Number of play partners present -0.02  0.01 -0.31 -1.55 0.13 [-0.05, 0.01]
Sex -0.01 0.02 -0.13 -0.62 0.54 [-0.06,0.03]
Intercept Model 3 0.18  0.06 2.89 0.01 [0.06, 0.31] 0.34 0.12 0.00 0.10 0.03 067 1,23 0.42
Number of play partners present -0.02  0.01 -0.34 -1.65 0.11 [-0.05, 0.01]
Sex -0.02 002 -0.16 -0.77 045 [-0.06,0.03]
Second semester gestational A* 0.00  0.00 -0.17 -0.82 0.42  [-0.01, 0.01]
Intercept Model 4 0.18  0.07 272 0.01 [0.05, 0.32] 0.34 0.12 -0.04 0.10 0.00 0.00 1,22 0.99
Number of play partners present -0.02  0.01 -0.34 -157 0.13 [-0.05, 0.01]
Sex -0.02 002 -0.16 -0.76 0.46 [-0.06,0.03]
Second semester gestational A* 0.00  0.00 -0.17 -0.80 043  [-0.01,0.01]
Sex * gestational A* interaction  0.00 ~ 0.00  0.00 0.01 0.99 [-0.01,0.01]
b SE() B t p 95% Cl R R?* Adjusted R* SE (estimate) R?A FA df  Sig. FA
Overall Play Father Intercept Model 1 0.88 0.20 450 0.00 [0.48, 1.29] 057 0.32 0.29 0.32 032 1177 1,25 0.00
Number of play partners present -0.12  0.04 -0.57 -3.43 0.00 [-0.2, -0.05]
Intercept Model 2 087 021 419 0.00 [0.44,1.3] 0.57 0.32 0.27 0.33 0.00 0.06 1,24 0.81
Number of play partners present -0.12  0.04 -0.55 -3.18 0.00 [-0.21, -0.05]
Sex 0.02 0.07 0.04 0.24 0.81 [-0.12, 0.16]
Intercept Model 3 089 021 4.17 0.00 [0.45, 1.33] 0.58 0.33 0.24 0.33 0.01 032 1,23 0.57
Number of play partners present -0.13  0.04 -0.57 -3.19 0.00 [-0.21,-0.05]
Sex 0.01 007 0.02 012 091 [-0.14,0.15]
Second semester gestational A*  0.00 0.01 -0.10 -0.57 0.57 [-0.03,0.02]
Intercept Model 4 090 0.23 3.94 0.00 [0.43, 1.37] 0.58 0.33 0.21 0.34 0.00 001 1,22 0.91
Number of play partners present -0.13  0.04 -0.58 -3.05 0.01 [-0.22,-0.05]
Sex 0.01 007 0.02 010 092 [-0.14,0.16]
Second semester gestational A* 0.00  0.01  -0.10 -0.56 058  [-0.03,0.02]
Sex * gestational A* interaction  0.00  0.01  0.02 012 091  [-0.02,0.02]

Note : SE = standard error; 95% CI = 95% confidence interval; df = degrees of freedom



Regression tables predicting play behaviors from second semester gestational A* levels continued

b SE() B t p 95% ClI R R* Adjusted R®> SE (estimate) R’A FA df  Sig. FA
Initiate Play Male Sib Intercept Model 1 124 040 312 0.01 [0.40, 2.06] 0.27 0.07 0.03 0.83 0.07 160 1,21 0.22
Number of male siblings present -0.37  0.30 -0.27 -1.27 0.22 [-1.00, 0.24]
Intercept Model 2 124 041 3.05 0.01 [0.40, 2.09] 0.27 0.07 -0.02 0.85 0.00 0.02 1,20 0.89
Number of male siblings present -0.37  0.30 -0.27 -1.23 0.23 [-1.00, 0.26]
Sex 0.03 0.18 0.03 0.14 0.89 [-0.30, 0.40]
Intercept Model 3 216 052 419 0.00 [1.10, 3.24] 0.55 0.30 0.19 0.75 0.23 6.29 1,19 0.02
Number of male siblings present -0.55 0.28 -0.39 -1.97 0.06 [-1.10, 0.03]
Sex -0.11 0.7 -0.14 -0.68 0.51 [-0.50,0.24]
Second semester gestational A* -0.06  0.02 -052 -251 0.02 [-0.10,-0.01]
Intercept Model 4 233 054 429 0.00 [1.20, 3.47] 0.58 0.34 0.19 0.75 0.04 097 1,18 0.34
Number of male siblings present -0.54  0.28 -0.38 -1.94 0.07 [-1.10, 0.05]
Sex -0.19 018 -0.23 -1.02 0.32 [-0.60,0.20]
Second semester gestational A* -0.08  0.03  -0.70 -2.54 0.02  [-0.20,-0.01]
Sex * gestational A* interaction -0.03 ~ 0.03  -0.26 -0.99 0.34  [-0.10, 0.04]
b SE() B t p 95% CI R R?  Adjusted R> SE (estimate) R?*A FA df  Sig. FA
Receive Male Sib Intercept Model 1 0.96 0.49 196 0.06 [-0.06,1.99] 0.19 0.04 -0.01 1.23 0.04 081 1,21 0.38
Number of male siblings present  0.35 039 019 090 0.38 [-0.47,1.17]
Intercept Model 2 1.09 0.50 218 0.04 [0.05, 2.14] 031 0.10 0.00 1.23 0.06 1.29 1,20 0.27
Number of male siblings present 0.24 040 013 061 0.55 [-0.6, 1.09]
Sex -0.30 026 -0.25 -1.13 0.27 [-0.86, 0.26]
Intercept Model 3 1.18 0.49 2.38 0.03 [0.14, 2.22] 041 0.17 0.04 121 0.08 1.72 1,19 0.21
Number of male siblings present 0.16 040 0.09 041 0.68 [-0.68, 1]
Sex -0.37 026 -030 -1.39 0.18 [-0.93,0.19]
Second semester gestational A* -0.04  0.03 -0.28 -1.31 021  [-0.12, 0.03]
Intercept Model 4 1.32 0.49 2.67 0.02 [0.29, 2.35] 0.50 0.25 0.09 1.17 0.08 2.01 1,18 0.17
Number of male siblings present 0.09 039 0.05 022 0.82 [-0.74, 0.92]
Sex -0.38 026 -0.32 -148 0.15 [-0.93,0.16]
Second semester gestational A* -0.04  0.03  -029 -1.39 018  [-0.12,0.03]
Sex * gestational A interaction  0.04 ~ 0.03 029 142 017 [-0.03,0.12]
b SE() B t p 95% Cl R R?* Adjusted R* SE (estimate) R?A FA df  Sig. FA
Overall Play Male Sib Intercept Model 1 216  0.77 279 0.01 [0.56, 3.78] 0.01 0.00 -0.05 1.95 0.00 0.00 1,21 0.96
Number of male siblings present -0.04 0.62 -0.01 -0.06 0.96 [-1.33, 1.26]
Intercept Model 2 230 0.80 2.86 0.01 [0.63, 3.98] 0.16 0.03 -0.07 1.97 0.03 055 1,20 0.47
Number of male siblings present -0.15 0.65 -0.05 -0.23 0.82 [-1.5,1.2]
Sex -0.31 043 -0.17 -0.74 0.47 [-1.21, 0.58]
Intercept Model 3 248  0.77 321 0.00 [0.86, 4.1] 0.40 0.16 0.03 1.88 0.13 3.03 1,19 0.10
Number of male siblings present -0.31  0.62 -0.11 -0.50 0.62 [-1.62, 0.99]
Sex -0.45 041 -024 -110 0.29 [-1.32,0.42]
Second semester gestational A* -0.09  0.05 -0.38 -1.74 0.10 [-0.2,0.02]
Intercept Model 4 2.68 0.77 3.48 0.00 [1.07, 4.31] 049 0.24 0.07 1.84 0.08 1.83 1,18 0.19
Number of male siblings present -0.43  0.62 -0.15 -0.70 0.50 [-1.72, 0.87]
Sex -0.48 040 -026 -1.18 0.25 [-1.33,0.38]
Second semester gestational A* -0.09  0.05 -038 -1.82 0.09  [-0.2,0.02]
Sex * gestational A® interaction  0.07  0.05  0.28 135 0.19

Note : SE = standard error; 95% CI = 95% confidence interval; df = degrees of freedom



